
Dsc 06, 2004

Installation Ctlid'e

DRILLING INTO THE BODY IS NOT

2004-c

REQUIRED

FORD Fl 50
Super Crew

PICKUP hoduct lVo.
Vilh Filairs 67084

tritt,out Flrl;irs 6705s
OTY. DESCRIPTION
24 5/16' x 3/4' Wosher Heod Bolts
16 5/16' Wosher Heod Nuts
12 ff14 x 3/4' Self Dril l ing Screws (SHORT)
6 Clip Nuts

INSTALTATION
PARTS UST:

OTY. DESCRIPTION
2 Running Boqrds
2 Step Pods
2 Foom Tope Strips
6 Flot Plotes #FL85
6 Step Supports #3124F

16. DRILL i 1/2. HEX SOCKET } 1/2. IVRENCH } 5/16. NUT DRIVER 13/8. NUT DRIVER

1. Prior to pointing, fft your Ou.n Pr.mior runnil4 bootdt to thc body_. A goo! fit is_occornplished when moti_1g
surfoces 

-fit 
with minimun light gops. Note: Vehicle bodies hove vqriqtions ond o perfect fit moy not be possible.

2. Pointing lour Orcnr Prwnbr running boordr.To insure _qprop€l-point finish, use o top quolity outo point system
ond follow the monufocturers instructions for pointing ABS plostic.

Side Shown
Side

Front Wheel
!elllMud
Guoid

3124F

5. Mcosurr from the wheel well, bock to the dimensions shown obove. 4. Slide clip nut
Mork these brocket locotion centers. ' shown in 3.

into body holes ot locotions

5/16'
BOLT

5. Ploce flot brocket FLEJ oqoinst the pinch weld
of the locotions shown ob-ove, put 1 

' 
5/16' bolt

ond nut through the holes _in the body ond the
brocket. Use oiother 5/16' bolt to ottoch the top
of the brocket to the previously instolled clip nut.
Attoch the horizontol brocket to the flot brocket
with 5/16' bolts ond nuts.

Do Not
Scrar Up
to Body

#1+x3/4"

Foom

Peel Off
Tope

Tope

Step
Pod

Logo

6. Cleon surfoce prior to ottoching tope ond stcp pods
with denotured' olcohol. Apply foom tope to top l ip
of boqrd. Position step pod on stepping surfoce.
Peel off tope bocking storting with the reor strip.
Keep pod in position, peel off bocking then opply
pressure to top of pod to stick tope to boord.
Continue obove steps for oll tope strips.

E. Moke sure your boords ore level,
t ighten oll bolts to 18 foot pounds.
Do not overtighton thc sheet metol
screws. he sheet metol is thin.
Ilo not ovrrtightctt.

I  N269A
7. Position boord on brockets ond tight to truck

body. Secure step support brqcket to bottom
of 5oord using two Si+ x 3/4' self-dri l l ing
screws per br-ocket. Repeot for oll brockets. 12 /06 /a4

o|YENsPRoDUcTs1loooPRoGREsssrREET5ruRGts,M|49o91.259-65t_25o0Jtotl-FREE:E0O-726-956FFA(:2E9-6519526.lt.vEjry


